6/5/2025

					J & J Earth		Basin Constructi LI	LC .	Webster S	cale, Inc.
Bid Sche	dule A - Civ	il			Milbai	nk, SD	Hayt	i, SD	Webste	er, SD
Item#	Spec #	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	C-105	Mobilization (Max of 10% of Total Project Cost)	1	L.S.	\$225,000.00	\$225,000.00	\$370,000.00	\$370,000.00	\$400,000.00	\$400,000.00
2	C-100	Contractor Quality Control Plan	1	L.S.	\$170,000.00	\$170,000.00	\$140,000.00	\$140,000.00	\$140,000.00	\$140,000.00
3	S-100	Construction Safety Phasing Plan	1	L.S.	\$85,000.00	\$85,000.00	\$330,000.00	\$330,000.00	\$110,000.00	\$110,000.00
4	P-101	Concrete Pavement Removal (7.5" Nominal Depth)	8,071	SqYd	\$7.25	\$58,514.75	\$7.50	\$60,532.50	\$9.00	\$72,639.00
5	P-101	Asphalt Pavement/Base Removal (12" Nominal Depth)	20,383	SqYd	\$5.50	\$112,106.50	\$5.75	\$117,202.25	\$3.75	\$76,436.25
6	P-101	Cold Milling (2" Nominal Depth)	817	SqYd	\$4.00	\$3,268.00	\$5.00	\$4,085.00	\$10.00	\$8,170.00
7	P-152	Unclassified Excavation	43,328	CuYd	\$5.25	\$227,472.00	\$4.00	\$173,312.00	\$3.75	\$162,480.00
8	P-152	Borrow Excavation	5,247	CuYd	\$8.50	\$44,599.50	\$5.00	\$26,235.00	\$5.00	\$26,235.00
9	P-154	Subbase Course (Furnished)	16,156	CuYd	\$34.00	\$549,304.00	\$36.00	\$581,616.00	\$50.00	\$807,800.00
10	P-154	Subbase Course (Recycled)	6,805	CuYd	\$12.00	\$81,660.00	\$11.00	\$74,855.00	\$22.00	\$149,710.00
11	P-154	Geotextile Separator Fabric	31,419	SqYd	\$2.25	\$70,692.75	\$1.50	\$47,128.50	\$2.50	\$78,547.50
12	P-154	Geogrid	6,000	SqYd	\$0.01	\$60.00	\$2.00	\$12,000.00	\$3.00	\$18,000.00
13	P-209	Crushed Aggregate Base Course	4,700	CuYd	\$41.00	\$192,700.00	\$43.00	\$202,100.00	\$80.00	\$376,000.00
14	P-401	Asphalt Base / Surface Course	9,785.0	Ton	\$74.00	\$724,090.00	\$79.00	\$773,015.00	\$70.00	\$684,950.00
15	P-401	Asphalt Binder (PG 64-34)	637.0	Ton	\$850.00	\$541,450.00	\$1,000.00	\$637,000.00	\$865.00	\$551,005.00
16	P-602	Emulsified Asphalt Prime Coat	37.0	Ton	\$550.00	\$20,350.00	\$600.00	\$22,200.00	\$550.00	\$20,350.00
17	P-603	Emulsified Asphalt Tack Coat	24.0	Ton	\$1,100.00	\$26,400.00	\$1,200.00	\$28,800.00	\$1,100.00	\$26,400.00
18	P-605	Route and Seal Joint	1,406	Ft	\$3.50	\$4,921.00	\$3.70	\$5,202.20	\$11.00	\$15,466.00
19	P-620	Pavement Marking Removal	2,024	SqFt	\$2.50	\$5,060.00	\$2.50	\$5,060.00	\$2.25	\$4,554.00
20	P-620	Pavement Marking (Yellow)	3,414	SqFt	\$1.75	\$5,974.50	\$1.90	\$6,486.60	\$1.75	\$5,974.50
21	P-620	Pavement Marking (Black)	5,862	SqFt	\$2.20	\$12,896.40	\$2.50	\$14,655.00	\$2.25	\$13,189.50
22	P-620	Pavement Marking (Red)	417	SqFt	\$2.50	\$1,042.50	\$2.50	\$1,042.50	\$2.25	\$938.25
23	P-620	Pavement Marking (White)	90	SqFt	\$2.00	\$180.00	\$1.90	\$171.00	\$1.75	\$157.50
24	P-620	Temporary Pavement Marking (Yellow)	3,414	SqFt	\$1.75	\$5,974.50	\$1.90	\$6,486.60	\$1.75	\$5,974.50
25	P-620	Temporary Pavement Marking (Black)	5,862	SqFt	\$2.70	\$15,827.40	\$3.20	\$18,758.40	\$2.75	\$16,120.50
26	P-620	Temporary Pavement Marking (Red)	417	SqFt	\$3.00	\$1,251.00	\$3.20	\$1,334.40	\$2.75	\$1,146.75
27	P-620	Temporary Pavement Marking (White)	90	SqFt	\$2.00	\$180.00	\$1.90	\$171.00	\$1.75	\$157.50
28	D-701	12" RCP (Class III)	24	Ft	\$63.00	\$1,512.00	\$75.00	\$1,800.00	\$120.00	\$2,880.00
		1		1			ii i			

\$850.00

\$78.00

\$1,700.00

\$35,100.00

\$950.00

\$80.00

\$1,900.00

\$36,000.00

\$800.00

\$90.00

\$1,600.00

\$40,500.00

2 Each

450 Ft

29

30

D-701

D-701

12" RCP Flared End (Class III)

18" RCP (Class III)

					J & J Earth Works, Inc.		Basin Construction		Webster Scale, Inc.	
Bid Sche	dule A - Civ	il			Milbank, SD		Hayti, SD		Webste	er, SD
Item#	Spec #	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
31	D-701	18" RCP Flared End (Class III)	6	Each	\$975.00	\$5,850.00	\$1,100.00	\$6,600.00	\$900.00	\$5,400.00
32	D-705	4" Perforated Underdrain Pipe	7,283	Ft	\$11.50	\$83,754.50	\$15.00	\$109,245.00	\$14.00	\$101,962.00
33	D-705	Underdrain Cleanout	22	Each	\$750.00	\$16,500.00	\$400.00	\$8,800.00	\$150.00	\$3,300.00
34	D-705	Connect Underdrain to Existing Underdrain	2	Each	\$150.00	\$300.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00
35	D-705	Connect Underdrain to RCP	12	Each	\$925.00	\$11,100.00	\$600.00	\$7,200.00	\$500.00	\$6,000.00
36	T-901	Seeding and Fertilizing	20.0	Acre	\$1,300.00	\$26,000.00	\$1,700.00	\$34,000.00	\$1,075.00	\$21,500.00
37	T-905	Topsoil (Removed from Stockpile)	12,071	CuYd	\$4.50	\$54,319.50	\$4.50	\$54,319.50	\$3.75	\$45,266.25
38	T-908	Mulching	96,800	SqYd	\$0.64	\$61,952.00	\$0.20	\$19,360.00	\$0.50	\$48,400.00
39	TL-100	Field Laboratory, Type I	1	Each	\$1.00	\$1.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00
40	Plans	Adjust Sanitary Sewer Manhole Elevation	2	Each	\$450.00	\$900.00	\$3,600.00	\$7,200.00	\$1,100.00	\$2,200.00
41	Plans	Stop Sign	1	Each	\$850.00	\$850.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
42	Plans	Storm Water Pollution Prevention Plan	1	L.S.	\$500.00	\$500.00	\$4,200.00	\$4,200.00	\$25,000.00	\$25,000.00
43	3 Plans Culvert/Inlet Protection 9 Eac.			Each	\$250.00	\$2,250.00	\$220.00	\$1,980.00	\$175.00	\$1,575.00
	Bid Schedule A Total					\$3,488,563.80		\$3,964,053.45		\$4,084,985.00

TAXIWAY IMPROVEMENTS WATERTOWN REGIONAL AIRPORT WATERTOWN, SOUTH DAKOTA AIP #3-46-0058-047/048-2025

A-9070

BID TABULATION 6/5/2025

	J & J Earth Works, Inc.		Works, Inc.	Basin Construction		Webster Scale, Inc.				
Bid Sch	edule B - Elec	ctrical			Milbar	ık, SD	Hayti	, SD	Webster, SD	
Item#	Spec #	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	C-105	Mobilization (Max of 10% of Total Project Cost)	1	L.S.	\$65,000.00	\$65,000.00	\$26,000.00	\$26,000.00	\$60,000.00	\$60,000.00
2	01 51 26	Temporary Phasing Work, Electrical	1	L.S.	\$9,500.00	\$9,500.00	\$11,500.00	\$11,500.00	\$15,000.00	\$15,000.00
3	L-108	1/C No. 8 AWG, 5 kV, L-824, Type C Cable, Installed in Conduit	15,248	Ft	\$1.60	\$24,396.80	\$1.75	\$26,684.00	\$1.75	\$26,684.00
4	L-108	1/C No. 6 AWG, Solid, Bare Copper Counterpoise Wire, Installed in Trench or Plowed, Including Above Conduit, Connections, Terminations, & Ground Rods	9,917	Ft	\$3.70	\$36,692.90	\$4.25	\$42,147.25	\$4.00	\$39,668.00
5	L-110	Remove & Dispose of Existing Cable	10,423	Ft	\$0.35	\$3,648.05	\$0.30	\$3,126.90	\$0.35	\$3,648.05
6	L-110	Remove & Dispose of Existing Conduit	8,574	Ft	\$1.10	\$9,431.40	\$1.25	\$10,717.50	\$1.25	\$10,717.50
7	L-110	Trenching & Backfilling or Plowing for Conduit	11,903	Ft	\$4.60	\$54,753.80	\$5.50	\$65,466.50	\$5.00	\$59,515.00
8	L-110	Non-Encased, Electrical Conduit, 1-2 Inch, Type I, Sch. 40 PVC in Trench or SDR 13 HDPE Plowed	11,289	Ft	\$1.55	\$17,497.95	\$1.90	\$21,449.10	\$1.75	\$19,755.75
9	L-110	Sand-Encased, Electrical Conduit, 2-2 Inch, Type III, Sch. 80 PVC in Trench	372	Ft	\$13.00	\$4,836.00	\$14.50	\$5,394.00	\$14.00	\$5,208.00
10	L-110	Sand-Encased, Electrical Conduit, 3-2 Inch, Type III, Sch. 80 PVC in Trench	174	Ft	\$19.00	\$3,306.00	\$21.50	\$3,741.00	\$20.00	\$3,480.00
11	L-110	Sand-Encased, Electrical Conduit, 4-2 Inch, Type III, Sch. 80 PVC in Trench	115		\$24.00	\$2,760.00	\$27.00	\$3,105.00	\$25.00	\$2,875.00
12	L-110	Cable Markers	8	Each	\$210.00	\$1,680.00	\$220.00	\$1,760.00	\$200.00	\$1,600.00
13	L-115	Remove & Dispose of Existing Electrical Manhole	4	Each	\$400.00	\$1,600.00	\$450.00	\$1,800.00	\$440.00	\$1,760.00
14	L-115	L-867B (12"), Junction Box with Flat Blank Steel Cover	5	Each	\$930.00	\$4,650.00	\$1,100.00	\$5,500.00	\$1,000.00	\$5,000.00
15	L-125	Remove & Salvage Existing Taxiway Edge Light & Transformer; Remove & Dispose of Base Can & Concrete	87	Each	\$160.00	\$13,920.00	\$180.00	\$15,660.00	\$175.00	\$15,225.00
16	L-125	Remove & Salvage Existing Runway Edge In- Pavement Flush Light & Transformer; Base Can to Remain	1	Each	\$120.00	\$120.00	\$120.00	\$120.00	\$125.00	\$125.00
17	L-125	Remove & Salvage for Reinstallation Existing Runway Threshold Light & Transformers; Remove & Dispose of Base Can & Concrete	8	Each	\$175.00	\$1,400.00	\$200.00	\$1,600.00	\$200.00	\$1,600.00
18	L-125	Remove & Salvage Existing Sign; Remove & Dispose of Concrete Pad & Junction Box	15	Each	\$165.00	\$2,475.00	\$200.00	\$3,000.00	\$200.00	\$3,000.00
19	L-125	Reinstall Existing Runway Threshold Light & Transformer on New L-867 Fixed Bottom Base Can w/ Adjustable Top Including Concrete	8	Each	\$2,020.00	\$16,160.00	\$2,350.00	\$18,800.00	\$2,200.00	\$17,600.00

AIP #3-46-0058-047/048-2025

A-9070 BID TABULATION

					J & J Earth	Works, Inc.	Basin Constructi LI	· · · · · · · · · · · · · · · · · · ·	Webster S	Scale, Inc.
Bid Sche	dule B - Ele	ctrical			Milbar	ık, SD	Hayt	i, SD	Webster, SD	
Item#	Spec #	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
20	L-125	L-861T, 30-Inch Elevated, Mode 1, LED, Medium Intensity Taxiway Light (MITL) w/ Artic Kit, Blue, Including Fixed Bottom Base Can w/ Adjustable Top, Including Concrete	1	Each	\$2,800.00	\$2,800.00	\$3,200.00	\$3,200.00	\$3,000.00	\$3,000.00
21	L-125	L-861T, 30-Inch Elevated, Mode 1, LED, Medium Intensity Taxiway Light (MITL) w/ Artic Kit, Blue, Including Base Can & Concrete	141	Each	\$1,380.00	\$194,580.00	\$1,650.00	\$232,650.00	\$1,500.00	\$211,500.00
22	L-125	L-862, 30-Inch Elevated, Mode 1 Quartz/Halogen, High Intensity Runway Light (HIRL), White/Yellow, Including Bolt Circle Conversion Adapter Ring	1	Each	\$1,000.00	\$1,000.00	\$1,100.00	\$1,100.00	\$1,000.00	\$1,000.00
23	L-125	L-858Y (Directional), Size 2, Style 2 (LED), Class 2, Mode 2, 1 Module, Airfield Sign, w/ New Transformer, on Existing Concrete Sign Pad	2	Each	\$3,000.00	\$6,000.00	\$3,300.00	\$6,600.00	\$3,000.00	\$6,000.00
24	L-125	L-858Y (Directional), Size 2, Style 2 (LED), Class 2, Mode 2, 2 Module, Airfield Sign, Including Sign Pad & Junction Box	4	Each	\$5,900.00	\$23,600.00	\$7,000.00	\$28,000.00	\$6,200.00	\$24,800.00
25	L-125	L-858L/Y (Location/Directional), Size 2, Style 2 (LED), Class 2, Mode 2, 2 Module, Airfield Sign, Including Sign Pad & Junction Box	5	Each	\$5,900.00	\$29,500.00	\$7,000.00	\$35,000.00	\$6,200.00	\$31,000.00
26	L-125	L-858R/L (Mandatory/Location), Size 2, Style 2 (LED), Class 2, Mode 2, 2 Module, Airfield Sign, Including Sign Pad & Junction Box	1	Each	\$5,900.00	\$5,900.00	\$7,000.00	\$7,000.00	\$6,200.00	\$6,200.00
27	L-125	L-858Y (Destination), Size 2, Style 2 (LED), Class 2, Mode 2, 3 Module, Airfield Sign, Including Sign Pad & Junction Box	3	Each	\$7,400.00	\$22,200.00	\$8,000.00	\$24,000.00	\$7,500.00	\$22,500.00
28	L-125	L-858L/Y (Location/Directional), Size 2, Style 2 (LED), Class 2, Mode 2, 3 Module, Airfield Sign, Including Sign Pad & Junction Box	5	Each	\$6,900.00	\$34,500.00	\$8,000.00	\$40,000.00	\$7,500.00	\$37,500.00
29	L-125	L-858R/L (Mandatory/Location), Size 2, Style 2 (LED), Class 2, Mode 2, 3 Module, Airfield Sign, Including Sign Pad & Junction Box	1	Each	\$7,800.00	\$7,800.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00
30	L-125	Sign #14, L-858Y (Directional) S1 & L-858R/L (Mandatory/Location) S2 Legend Replacement , Size 2, Style 2 (LED)	1	L.S.	\$400.00	\$400.00	\$400.00	\$400.00	\$375.00	\$375.00
31	L-125	Sign #26, L-858Y (Directional) S1 Legend Replacement, Size 2, Style 2 (LED)	1	L.S.	\$480.00	\$480.00	\$500.00	\$500.00	\$475.00	\$475.00
32	L-125	Sign #27, L-858R/L (Mandatory/Location) S1 Legend Replacement, Size 2, Style 2 (LED)	1	L.S.	\$480.00	\$480.00	\$500.00	\$500.00	\$475.00	\$475.00

AIP #3-46-0058-047/048-2025

A-9070

BID TABULATION

					J & J Earth	Works, Inc.	Basin Construction & Drain Tile, LLC		Webster Scale, Inc.	
Bid Sch	id Schedule B - Electrical				Milbank, SD		Hayti, SD		Webster, SD	
Item #	Spec #	Item Description	Quantity U	Jnit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
33	L-125	Spare Parts	1 L.	.S.	\$5,700.00	\$5,700.00	\$6,300.00	\$6,300.00	\$5,750.00	\$5,750.00
34	1 34 43 26 19	Remove & Salvage Existing L-829 Constant Current Regulator	1 L.	.S.	\$450.00	\$450.00	\$480.00	\$480.00	\$500.00	\$500.00
35	L-829 Constant Current Regulator (CCR) w/ Monitoring Options, Class 1 (6.6A), Style 1 (3-Step), Size 10kW			ach	\$75,000.00	\$75,000.00	\$87,000.00	\$87,000.00	\$87,500.00	\$87,500.00
	Bid Schedule B Total					\$684,217.90		\$749,301.25		\$739,036.30

	J & J Earth Works, Inc.	Basin Construction & Drain Tile, LLC	Webster Scale, Inc.
	Milbank, SD	Hayti, SD	Webster, SD
Bid Schedule A and Bid Schedule B Total	\$4,172,781.70	\$4,713,354.70	\$4,824,021.30

					Midland Cont	tracting, Inc.	Duining	k, Inc.
Bid Sche	dule A - Civ	ril			Volga	, SD	Prinsbu	rg, MN
Item#	Spec #	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price
1	C-105	Mobilization (Max of 10% of Total Project Cost)	1	L.S.	\$402,980.00	\$402,980.00	\$570,000.00	\$570,000.00
2	C-100	Contractor Quality Control Plan	1	L.S.	\$238,000.00	\$238,000.00	\$50,000.00	\$50,000.00
3	S-100	Construction Safety Phasing Plan	1	L.S.	\$80,800.00	\$80,800.00	\$200,000.00	\$200,000.00
4	P-101	Concrete Pavement Removal (7.5" Nominal Depth)	8,071	SqYd	\$7.00	\$56,497.00	\$13.00	\$104,923.00
5	P-101	Asphalt Pavement/Base Removal (12" Nominal Depth)	20,383	SqYd	\$4.90	\$99,876.70	\$11.00	\$224,213.00
6	P-101	Cold Milling (2" Nominal Depth)	817	SqYd	\$8.00	\$6,536.00	\$9.00	\$7,353.00
7	P-152	Unclassified Excavation	43,328	CuYd	\$4.00	\$173,312.00	\$7.00	\$303,296.00
8	P-152	Borrow Excavation	5,247	CuYd	\$5.25	\$27,546.75	\$17.00	\$89,199.00
9	P-154	Subbase Course (Furnished)	16,156	CuYd	\$41.50	\$670,474.00	\$43.00	\$694,708.00
10	P-154	Subbase Course (Recycled)	6,805	CuYd	\$21.00	\$142,905.00	\$17.00	\$115,685.00
11	P-154	Geotextile Separator Fabric	31,419	SqYd	\$3.00	\$94,257.00	\$2.50	\$78,547.50
12	P-154	Geogrid	6,000	SqYd	\$4.00	\$24,000.00	\$4.00	\$24,000.00
13	P-209	Crushed Aggregate Base Course	4,700	CuYd	\$100.00	\$470,000.00	\$125.00	\$587,500.00
14	P-401	Asphalt Base / Surface Course	9,785.0	Ton	\$73.50	\$719,197.50	\$96.00	\$939,360.00
15	P-401	Asphalt Binder (PG 64-34)	637.0	Ton	\$920.00	\$586,040.00	\$700.00	\$445,900.00
16	P-602	Emulsified Asphalt Prime Coat	37.0	Ton	\$575.00	\$21,275.00	\$1,950.00	\$72,150.00
17	P-603	Emulsified Asphalt Tack Coat	24.0	Ton	\$1,150.00	\$27,600.00	\$1,425.00	\$34,200.00
18	P-605	Route and Seal Joint	1,406	Ft	\$10.00	\$14,060.00	\$10.00	\$14,060.00
19	P-620	Pavement Marking Removal	2,024	SqFt	\$2.20	\$4,452.80	\$2.00	\$4,048.00
20	P-620	Pavement Marking (Yellow)	3,414	SqFt	\$1.73	\$5,906.22	\$1.50	\$5,121.00
21	P-620	Pavement Marking (Black)	5,862	SqFt	\$2.20	\$12,896.40	\$2.00	\$11,724.00
22	P-620	Pavement Marking (Red)	417	SqFt	\$2.20	\$917.40	\$2.00	\$834.00
23	P-620	Pavement Marking (White)	90	SqFt	\$1.73	\$155.70	\$1.50	\$135.00
24	P-620	Temporary Pavement Marking (Yellow)	3,414	SqFt	\$1.73	\$5,906.22	\$1.50	\$5,121.00
25	P-620	Temporary Pavement Marking (Black)	5,862	SqFt	\$2.88	\$16,882.56	\$2.50	\$14,655.00
26	P-620	Temporary Pavement Marking (Red)	417	SqFt	\$2.88	\$1,200.96	\$2.50	\$1,042.50
27	P-620	Temporary Pavement Marking (White)	90	SqFt	\$1.73	\$155.70	\$1.50	\$135.00
28	D-701	12" RCP (Class III)	24	Ft	\$130.00	\$3,120.00	\$103.00	\$2,472.00
29	D-701	12" RCP Flared End (Class III)	2	Each	\$1,000.00	\$2,000.00	\$860.00	\$1,720.00
30	D-701	18" RCP (Class III)	450	Ft	\$130.00	\$58,500.00	\$101.00	\$45,450.00

					Midland Cont	tracting, Inc.	Duining	ck, Inc.
Bid Schee	dule A - Civ	il			Volga	, SD	Prinsburg, MN	
Item#	Spec #	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price
31	D-701	18" RCP Flared End (Class III)	6	Each	\$1,200.00	\$7,200.00	\$1,025.00	\$6,150.00
32	D-705	4" Perforated Underdrain Pipe	7,283	Ft	\$28.00	\$203,924.00	\$20.00	\$145,660.00
33	D-705	Underdrain Cleanout	22	Each	\$1,500.00	\$33,000.00	\$250.00	\$5,500.00
34	D-705	Connect Underdrain to Existing Underdrain	2	Each	\$500.00	\$1,000.00	\$126.00	\$252.00
35	D-705	Connect Underdrain to RCP	12	Each	\$500.00	\$6,000.00	\$705.00	\$8,460.00
36	T-901	Seeding and Fertilizing	20.0	Acre	\$610.00	\$12,200.00	\$1,000.00	\$20,000.00
37	T-905	Topsoil (Removed from Stockpile)	12,071	CuYd	\$3.00	\$36,213.00	\$15.00	\$181,065.00
38	T-908	Mulching	96,800	SqYd	\$0.75	\$72,600.00	\$0.45	\$43,560.00
39	TL-100	Field Laboratory, Type I	1	Each	\$7,500.00	\$7,500.00	\$17,000.00	\$17,000.00
40	Plans	Adjust Sanitary Sewer Manhole Elevation	2	Each	\$1,500.00	\$3,000.00	\$1,200.00	\$2,400.00
41	Plans	Stop Sign	1	Each	\$1,000.00	\$1,000.00	\$750.00	\$750.00
42	Plans	Storm Water Pollution Prevention Plan	1	L.S.	\$5,000.00	\$5,000.00	\$21,500.00	\$21,500.00
43	Plans	Culvert/Inlet Protection	9	Each	\$200.00	\$1,800.00	\$150.00	\$1,350.00
		Bid Schedule A Total			•	\$4,357,887.91		\$5,101,199.00

AIP #3-46-0058-047/048-2025 A-9070

BID TABULATION 6/5/2025

					Midland Cont	tracting, Inc.	Duininck, Inc.	
Bid Sche	edule B - Ele	ctrical			Volga	, SD	Prinsbu	rg, MN
Item#	Spec #	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price
1	C-105	Mobilization (Max of 10% of Total Project Cost)	1	L.S.	\$45,000.00	\$45,000.00	\$25,300.00	\$25,300.00
2	01 51 26	Temporary Phasing Work, Electrical	1	L.S.	\$10,683.00	\$10,683.00	\$10,900.00	\$10,900.00
3	L-108	1/C No. 8 AWG, 5 kV, L-824, Type C Cable, Installed in Conduit	15,248	Ft	\$1.73	\$26,379.04	\$1.75	\$26,684.00
4	L-108	1/C No. 6 AWG, Solid, Bare Copper Counterpoise Wire, Installed in Trench or Plowed, Including Above Conduit, Connections, Terminations, & Ground Rods	9,917	Ft	\$4.00	\$39,668.00	\$4.25	\$42,147.25
5	L-110	Remove & Dispose of Existing Cable	10,423	Ft	\$0.29	\$3,022.67	\$0.30	\$3,126.90
6	L-110	Remove & Dispose of Existing Conduit	8,574	Ft	\$1.15	\$9,860.10	\$1.20	\$10,288.80
7	L-110	Trenching & Backfilling or Plowing for Conduit	11,903	Ft	\$5.24	\$62,371.72	\$5.35	\$63,681.05
8	L-110	Non-Encased, Electrical Conduit, 1-2 Inch, Type I, Sch. 40 PVC in Trench or SDR 13 HDPE Plowed	11,289	Ft	\$1.73	\$19,529.97	\$1.75	\$19,755.75
9	L-110	Sand-Encased, Electrical Conduit, 2-2 Inch, Type III, Sch. 80 PVC in Trench	372	Ft	\$14.37	\$5,345.64	\$15.00	\$5,580.00
10	L-110	Sand-Encased, Electrical Conduit, 3-2 Inch, Type III, Sch. 80 PVC in Trench	174	Ft	\$20.70	\$3,601.80	\$21.00	\$3,654.00
11	L-110	Sand-Encased, Electrical Conduit, 4-2 Inch, Type III, Sch. 80 PVC in Trench	115		\$26.45	\$3,041.75	\$27.00	\$3,105.00
12	L-110	Cable Markers	8	Each	\$212.75	\$1,702.00	\$220.00	\$1,760.00
13	L-115	Remove & Dispose of Existing Electrical Manhole	4	Each	\$431.25	\$1,725.00	\$440.00	\$1,760.00
14	L-115	L-867B (12"), Junction Box with Flat Blank Steel Cover	5	Each	\$1,012.00	\$5,060.00	\$1,050.00	\$5,250.00
15	L-125	Remove & Salvage Existing Taxiway Edge Light & Transformer; Remove & Dispose of Base Can & Concrete	87	Each	\$172.50	\$15,007.50	\$175.00	\$15,225.00
16	L-125	Remove & Salvage Existing Runway Edge In- Pavement Flush Light & Transformer; Base Can to Remain	1	Each	\$110.00	\$110.00	\$120.00	\$120.00
17	L-125	Remove & Salvage for Reinstallation Existing Runway Threshold Light & Transformers; Remove & Dispose of Base Can & Concrete	8	Each	\$184.00	\$1,472.00	\$190.00	\$1,520.00
18	L-125	Remove & Salvage Existing Sign; Remove & Dispose of Concrete Pad & Junction Box	15	Each	\$184.00	\$2,760.00	\$190.00	\$2,850.00
19	L-125	Reinstall Existing Runway Threshold Light & Transformer on New L-867 Fixed Bottom Base Can w/ Adjustable Top Including Concrete	8	Each	\$2,250.00	\$18,000.00	\$2,300.00	\$18,400.00

AIP #3-46-0058-047/048-2025

A-9070

BID TABULATION

					Midland Con	tracting, Inc.	Duinine	ck, Inc.
Bid Sche	dule B - Ele	ectrical			Volga	, SD	Prinsbu	rg, MN
Item#	Spec #	Item Description	Quantity	Unit	t Unit Price Total Price		Unit Price	Total Price
20	L-125	L-861T, 30-Inch Elevated, Mode 1, LED, Medium Intensity Taxiway Light (MITL) w/ Artic Kit, Blue, Including Fixed Bottom Base Can w/ Adjustable Top, Including Concrete	1	Each	\$3,059.00	\$3,059.00	\$3,150.00	\$3,150.00
21	L-125	L-861T, 30-Inch Elevated, Mode 1, LED, Medium Intensity Taxiway Light (MITL) w/ Artic Kit, Blue, Including Base Can & Concrete	141	Each	\$1,550.00	\$218,550.00	\$1,600.00	\$225,600.00
22	L-125	L-862, 30-Inch Elevated, Mode 1 Quartz/Halogen, High Intensity Runway Light (HIRL), White/Yellow, Including Bolt Circle Conversion Adapter Ring	1	Each	\$1,000.00	\$1,000.00	\$1,050.00	\$1,050.00
23	L-125	L-858Y (Directional), Size 2, Style 2 (LED), Class 2, Mode 2, 1 Module, Airfield Sign, w/ New Transformer, on Existing Concrete Sign Pad	2	Each	\$3,220.00	\$6,440.00	\$3,300.00	\$6,600.00
24	L-125	L-858Y (Directional), Size 2, Style 2 (LED), Class 2, Mode 2, 2 Module, Airfield Sign, Including Sign Pad & Junction Box	4	Each	\$6,550.00	\$26,200.00	\$6,700.00	\$26,800.00
25	L-125	L-858L/Y (Location/Directional), Size 2, Style 2 (LED), Class 2, Mode 2, 2 Module, Airfield Sign, Including Sign Pad & Junction Box	5	Each	\$6,555.00	\$32,775.00	\$6,700.00	\$33,500.00
26	L-125	L-858R/L (Mandatory/Location), Size 2, Style 2 (LED), Class 2, Mode 2, 2 Module, Airfield Sign, Including Sign Pad & Junction Box	1	Each	\$6,500.00	\$6,500.00	\$6,650.00	\$6,650.00
27	L-125	L-858Y (Destination), Size 2, Style 2 (LED), Class 2, Mode 2, 3 Module, Airfield Sign, Including Sign Pad & Junction Box	3	Each	\$7,705.00	\$23,115.00	\$7,900.00	\$23,700.00
28	L-125	L-858L/Y (Location/Directional), Size 2, Style 2 (LED), Class 2, Mode 2, 3 Module, Airfield Sign, Including Sign Pad & Junction Box	5	Each	\$7,647.00	\$38,235.00	\$7,850.00	\$39,250.00
29	L-125	L-858R/L (Mandatory/Location), Size 2, Style 2 (LED), Class 2, Mode 2, 3 Module, Airfield Sign, Including Sign Pad & Junction Box	1	Each	\$8,533.00	\$8,533.00	\$8,750.00	\$8,750.00
30	L-125	Sign #14, L-858Y (Directional) S1 & L-858R/L (Mandatory/Location) S2 Legend Replacement, Size 2, Style 2 (LED)	1	L.S.	\$380.00	\$380.00	\$390.00	\$390.00
31	L-125	Sign #26, L-858Y (Directional) S1 Legend Replacement, Size 2, Style 2 (LED)	1	L.S.	\$483.00	\$483.00	\$495.00	\$495.00
32	L-125	Sign #27, L-858R/L (Mandatory/Location) S1 Legend Replacement, Size 2, Style 2 (LED)	1	L.S.	\$483.00	\$483.00	\$495.00	\$495.00

TAXIWAY IMPROVEMENTS WATERTOWN REGIONAL AIRPORT WATERTOWN, SOUTH DAKOTA AIP #3-46-0058-047/048-2025

A-9070 BID TABULATION

6/5/2025

					Midland Cont	racting, Inc.	Duininc	k, Inc.
Bid Sch	edule B - Elec	trical			Volga	, SD	Prinsbu	rg, MN
Item#	Spec #	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price
33	L-125	Spare Parts	1	L.S.	\$6,000.00	\$6,000.00	\$6,150.00	\$6,150.00
34	34 43 26.19	Remove & Salvage Existing L-829 Constant Current Regulator	1	L.S.	\$448.50	\$448.50	\$460.00	\$460.00
35		L-829 Constant Current Regulator (CCR) w/ Monitoring Options, Class 1 (6.6A), Style 1 (3-Step), Size 10kW	1	Each	\$82,500.00	\$82,500.00	\$77,200.00	\$77,200.00
	Bid Schedule B Total					\$729,041.69		\$721,347.75

	Midland Contracting, Inc.	Duininck, Inc.
	Volga, SD	Prinsburg, MN
Bid Schedule A and Bid Schedule B Total	\$5,086,929.60	\$5,822,546.75

I HEREBY CERTIFY THAT THE FOREGOING IS AN ACCURATE	REPRESENTATION AND TABUI	LATION OF ALL BIDS RECEIVED A	AND THAT THE MATHEMATICS H	IAVE BEEN CHECKED
AND IS TO THE BEST OF MY KNOWLEDGE CORRECT: /				

PROJECT ENGINEER: Wehve A. School DATE: 6-5-2025